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TNPSC GROUP I test batch – 2020 
TEST XIX – MENTAL ABILITY & CURRENT AFFAIRS (NOV & DEC) 

 
 
 

1. The Jannayak Janta Party has been recognized as the state party of which state by the 
Election commission of India? 
a. Gujarat  b. Bihar  c. Rajasthan  d. Haryana 
“[dehaf [djh fl;rpahdJ” ve;j khepyj;jpy; ,e;jpa Njh;jy; Mizaj;jhy; khepy 
fl;rpahf mq;fPfhuk; nra;ag;gl;Ls;sJ? 
a. F[uhj;  b. gPfhh;  c. uh[];jhd;  d. `hpahdh 
 

2. Match the following: 
Personality     Sports 
A. Angad Vir Singh Bajwa  1. Shooting 
B. Pooja Gehlot    2. Wrestling 
C. Sundar Singh Gurjar  3. Javelin throuwer 
D. Laishram Sarita Devi  4. Boxer 
 A B C D 
a. 4 2 3 1 
b. 3 4 2 1 
c. 1 2 3 4 
d. 2 3 4 1 
nghUj;Jf: 
egh;fs;     tpisahl;L 
A. mq;fj; tPh; rpq; g[;th  1. Jg;ghf;fp RLjy; 
B. g+[h NfNyhj;   2. ky;Aj;jk; 
C. Re;jh; rpq; Fh;[hh;   3. <l;b vwpjy; 
D. iy];uhk; rhpjh Njtp  4. Fj;Jr;rz;il 
 A B C D 
a. 4 2 3 1 
b. 3 4 2 1 
c. 1 2 3 4 
d. 2 3 4 1 
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3. Match the following: 
 Books      Authors 
A. The legacy of Militancy in   1. Sudha Murty 
Punjab:Long Road to Normalcy 
B. Garam Pahad    2. Ashwin Sanghi 
C. The Vault of Vishnu   3. Anita bhatnagar Jain 
D. The daughter from a Wishing Tree  4. Inderjit Singh & Dona Suri 
Unusual Tales about Women in  
Mythology   
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 3 4 2 1 
d. 2 4 3 1 
nghUj;Jf: 
 Gj;jfk;      Mrphpah;fs; 
A. The legacy of Militancy in   1. Rjh %h;j;jp 
Punjab:Long Road to Normalcy 
B. Garam Pahad    2.m~;tpd; rq;fp 
C. The Vault of Vishnu   3. mdpjh gl;dhfh; n[apd; 
D. The daughter from a Wishing Tree  4. ,e;jpu[pj; rpq; & Nlhdh  
Unusual Tales about Women in    #hp 
Mythology   
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 3 4 2 1 
d. 2 4 3 1 
 

4. The 55th Jnanpith Award for the year 2019 was conferred on 
a. Akkitham Achuthan Namboothiri b. Ravuri Bharadhwaja  
c. Raghuveer Chaudhari   d. Chandrashekhara Kambara 
2019 Mk; Mz;Lf;fhd 55tJ QhdgPl tpUJ ahUf;F toq;fg;gl;lJ? 
a. mf;fpjk; mr;Rjd; ek;g+jphp  b. uThp guj;th[h 
c. uFtPh; nrsjhp    d. re;jpuNrfu fhk;guh 
 

5. The Scientist of which country have discovered a massive black hole in the Milky Way? 
a. U.S.A  b. Germany  c. India  d. China 
ve;j ehl;bd; tpz;ntsp Muha;r;rpahsh;fs; ghy;top mz;lj;jpy; kpfg;nghpa fUe;Jis 
,Ug;gijf; fz;lwpe;Js;sdh;? 
a. mnkhpf;fh  b. n[h;kdp  c. ,e;jpah  d. rPdh 
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6. Match the following: 

Summits / Conference    State / Country 
A. Conference on „Landslide    1. India 
Risk Reduction and Resilience 
B. 18th World Wind Energy    2. United Kingdom 
Conference & Exhibition  
C. 2019 NATO Summit    3. New Delhi 
D. 36th International Geological Congress 4. Brazil 
 A B C D 
a. 4 3 2 1 
b. 3 4 2 1  
c. 1 2 3 4  
d. 1 3 2 4 
nghUj;Jf: 
khehLfs;      khepyk; / ehL 
A. epyr;rhptpd; Mgj;J Fiwg;G kw;Wk;   1. ,e;jpah 
vjph;nfhs;Sjy; gw;wpa khehL 
B. 18 tJ cyf fhw;whiy Mw;wy;  2. ,q;fpyhe;J 
khehL kw;Wk; fz;fhl;rp 
C. 2019 Nel;Nlh cr;rp khehL   3. GJ jpy;yp 
D. 36tJ rh;tNjr Gtpapay; khehL  4. gpNurpy; 
 A B C D 
a. 4 3 2 1 
b. 3 4 2 1  
c. 1 2 3 4  
d. 1 3 2 4 
 

7. Match the following: 
Award     Personality 
A. 2019 Karmaveer Chakra Award 1. Dr. Padmeswar Gogoi 
B. Ballon d‟or award 2019   2. Rahul Adhi kari 
C. Shakti Bhatt First Book Prize  3. Tony Joseph 
D. Siu-ka-pha Award – 2019  4. Lionel Messi 
 A B C D 
a.  3 4 2 1 
b. 2 4 3 1 
c. 1 4 3 2 
d. 1 2 3 4 
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nghUj;Jf: 
tpUJ      egh;fs; 
A. 2019 fh;ktPuh; rf;uh tpUJ  1. Dr.gj;Nk~;th; Nfhfha; 
B. ghyhd; b’Mh; tpUJ 2019  2. uhFy; Mjpfhp 
C. rf;jp ghj; Kjy; Gj;jf tpUJ  3. Nlhdp N[hrg; 
D. rpa+-fh-/gh tpUJ 2019   4. ypNahdy; nk];]p 
 
 
 A B C D 
a.  3 4 2 1 
b. 2 4 3 1 
c. 1 4 3 2 
d. 1 2 3 4 
 

8. Which film has won the Golden Peacock Award 2019? 
a. Bhonsle    b. Blue Sky   
c. The Weeping Woman  d. Particles 
2019-d; jq;f kapy; tpUJ ntd;w jpiug;glk; vJ? 
a. Nghd;];Ny    b. GS ];if 
c. jp tPg;gpq; ckd;   d. ghh;bfy;]; 
 

9. According to the UNEP (United Nations Environment Programme) Emissions Gap 
Report – 2019 the global temperature will rise by how many degrees till 2100? 
a. 2.90 C  b. 3.20 C  c. 3.90 C  d. 4.20 C 
UNEP apd; (If;fpa ehLfs; Rw;W#oy; jpl;lk;) ckpo;T ,ilntsp mwpf;if (2019) – 
d;gb 2100 Mk; Mz;L tiu g+kpapd; ntg;gepiy vt;tsT caUk;? 
a. 2.90 C  b. 3.20 C  c. 3.90 C  d. 4.20 C 
 

10. „Surya Kiran XIV‟ – is the joint military Exercise between India and which country? 
a. Srilanka  b. U.S.A  c. Nepal  d. Afghanistan 
„Surya Kiran XIV‟ vd;w ,uhZt $l;Lg; gapw;rpahdJ ,e;jpahtpw;Fk; ve;j ehl;bw;Fk; 
,ilNa ele;jJ? 
a. ,yq;if  b.  mnkhpf;fh  c. Neghsk;  d. Mg;fhdp];jhd; 
  

11. What is the name of the online trucking platform that has partnered with IDFC Bank and 
YES Bank to provide FASTags? 
a. Swaraj Mazda   b. Bharat Benz 
c. Blackbuck    d. Scania Trucks 
“FASTags” I toq;f IDFC tq;fp kw;Wk; YES tq;fpAld; $l;likg;ig Vw;gLj;jpAs;s 
,iza buf;fpq; (thfd) jsj;jpd; ngah; vd;d? 
a. Rtuh[; k];lh   b. ghuj; ngd;;]; 
c. gpshf; gf;    d. ];fhdpah l;uf;]; 
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12. Which of the following city has received SKOCH award for clean stations? 
a. Thiruvananthapuram   b. Indore 
c. Hyderabad     d. Chennai 
gpd;tUk; ve;j efukhdJ J}a;ikahd epiya guhkhpg;GfSf;fhf “SKOCH” tpUijg; 
ngw;Ws;sJ? 
a. jpUtde;jGuk;    b. ,e;J}h; 
c. i`juhghj;     d. nrd;id 
 
 

13. Consider the following: 
1. Thailand has been elected as a member of the World Heritage Committee. 
2. It was elected during 22nd session of General Assembly of state parties held in paris. 
3. The term would end in 2023  
which of the above statement is true? 
a. 1 & 2  b. 2 & 3 c. 1 & 3 d. All the above 
gpd;tUk; $w;Wfspy; rhpahdit vit? 
1. jha;yhe;J cyf guhk;ghpaf; FOtpd; cWg;gpduhf Njh;T nra;ag;gl;Ls;sJ. 
2. ghhprpy; eilngw;w 22tJ khepyf; fl;rpfspd; nghJr; rig $l;lj;jpd;NghJ ,J Njh;T 

nra;ag;gl;lJ> 
3. 2023 Mk; Mz;by; ,jd; gjtpf;fhyk; KbtilAk;. 
a. 1 & 2  b. 2 & 3 c. 1 & 3 d. Nkw;fz;l midj;Jk; 
 

14. „Mitra Shakti‟ – is the joint military exercise between India and which country? 
a. Nepal  b. China  c. Srilanka  d. Afghanistan 
“kpj;uh rf;jp” vDk; $l;L ,uhZtg; gapw;rpahdJ ,e;jpahtpw;Fk; ve;j ehl;bw;Fk; 
,ilNa eilngw;wJ? 
a. Neghsk;  b.  rPdh  c. ,yq;if  d. Mg;fhdp];jhd; 
 

15. Match the following: 
A. World Aids day      1. December 1 
B. International day for Persons with disabilities 2. December 2 
C. International day for abolition of slavery   3. December 3 
D. International Civil Aviation day   4. December 7 
 A B C D 
a.  1 2 3 4 
b. 1 3 4 2 
c. 1 3 2 4 
d. 1 4 3 2 
nghUj;Jf: 
A. cyf va;l;]; jpdk;     1. brk;gh; 1 
B. rh;tNjr khw;Wj;jpwdhspfs; ehs;   2. brk;gh; 2 
C. mbikj;jdj;ij xopg;gjw;fhd rh;tNjr ehs;  3. brk;gh; 3 
D. rh;tNjr tpkhd Nghf;Ftuj;J jpdk;   4. brk;gh; 7 
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 A B C D 
a.  1 2 3 4 
b. 1 3 4 2 
c. 1 3 2 4 
d. 1 4 3 2 
 
 

16. Match the following: 
A. Communities makes the difference  1. National Consumer    
     day 
B. United against Corruption   2. Human Rights day 
C. Youth standing Up for Human Rights  3. International Anti-   
     corruption day 
D. Alternate consumer grievance redressal 4. World Aids day 
  A B C D 
a.  1 2 3 4 
b. 4 2 3 1 
c. 3 4 2 1 
d. 4 3 2 1  
nghUj;Jf: 
A. r%fq;fs; tpj;ahrj;ij Vw;gLj;Jfpd;wd 1. Njrpa Efh;Nthh;     
     jpdk; 
B. CoYf;F vjpuhf xd;Wgly;   2. kdpj chpik jpdk; 
C. kdpj chpikfSf;fhf ,isQh;fs; vOr;rp 3. rh;tNjr CoYf;F    
     vjpuhd ehs; 
D. Efh;Nthh; FiwjPh;f;Fk; khw;WKiw  4. cyf va;l;]; jpdk; 
 A B C D 
a.  1 2 3 4 
b. 4 2 3 1 
c. 3 4 2 1 
d. 4 3 2 1  
 

17. Match the following: 
Appointments 
A. Controller General of  1. Soma Roy Burman 
Accounts 
B. President of Namibia  2. Hage Geingob 
C. President of Mauritius  3. Pritivi rajsingh Roopun 
D. Chairman of National stock  4. Girish Chandra Chaturvedi 
exchange  
 A B C D 
a.  1 4 3 2 
b. 1 3 2 4 
c. 1 2 3 4 
d. 1 2 4 3  
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nghUj;Jf: 
 epakdq;fs; 
A. nghJf; fzf;F ,af;Feh;  1. Nrhk uha; gh;kd; 
B. ekPgpahtpd; FbauRj; jiyth;  2. N`[; nfapd;fhg; 
C. nkhhPrpa~pd; FbauRj; jiyth;  3. gpUj;tp uh[;rpq; &gd; 
D. Njrpa gq;Fr; re;ijapd; jiyth; 4. fphp~; re;jpu rJh;Ntjp 
 A B C D 
a.  1 4 3 2 
b. 1 3 2 4 
c. 1 2 3 4 
d. 1 2 4 3 
  

18. Which country has become the first Asian country to be the „Guest of Honour Country‟ 
at the International Book Fair, Mexico? 
a. India  b. Japan  c. China d. Nepal 
nkf;rpNfhtpd; rh;tNjr Gj;jf fz;fhl;rpapy; “nfsut tpUe;jpdh; ehlhf” gq;F ngw;w 
Kjy; Mrpa ehL vJ? 
a. ,e;jpah  b. [g;ghd;  c. rPdh  d. Neghsk; 
 

19. Who has won the Women‟s singles title at 2019 Syed Modi International badminton 
tournament? 
a. P.V.Sindhu   b. Nozomi Okuhara 
c. Carolina Marin   d. Tai Tzu-ying  
2019 iraJ Nkhb rh;tNjr ,wFg;ge;J Nghl;bapy; ngz;fs; xw;iwah; gphptpy; gl;lk; 
ntd;wth; ahh;? 
a. P.V.rpe;J    b. nehrhkp xF`uh 
c. fNuhypdh khpd;   d. jha; #-apq; 
 

20. The king carl XVI Gustaf who visited India is the king of which country? 
a. Monaco  b. Bahrain  c. Saudi Arabia d. Sweden 
,e;jpahtpw;F tUif je;j murh; fhh;y; XVI f];l/g; ve;j ehl;bd; murh;? 
a. nkhdhNfh  b. g ;̀iud;  c. rTjp mNugpah d. ];tPld; 
 

21. Which of the following country was affected by the typhoon kammuri? 
a. Cuba  b. Philippines c. Vietnam  d. Madagascar 
fk;Khp (Kammuri) Gayhy; ghjpg;Gf;Fs;shd ehL vJ? 
a. fpa+gh  b. gpypg;igd;]; c. tpal;ehk;  d. klfh];fh; 
 

22. Which of the following state has received the Best state Award in cadaveric organ 
donation from the National organ and Tissue Transplant organisation? 
a. Kerala  b. Uttar Pradesh c. TamilNadu d. Gujarat 
Njrpa cWg;G kw;Wk; jpR khw;W mWitrpfpr;ir mikg;gpd; rpwe;j khepyj;Jf;fhd 
tpUij rly cWg;G jhdj;jpw;fhf ngw;w khepyk; vJ? 
a. Nfush  b.  cj;jpug;gpuNjrk; c. jkpo;ehL  d. F[uhj; 
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23. Which state has won the National Award of Excellence for for rehabilitation of persons 

with disabilities? 
a. Uttar Pradesh  b. Tamil Nadu 
c. Assam   d. Telangana  
khw;Wj;jpwdhspfs; kWtho;Tf;fhd rpwe;j Njrpa tpUijg; ngw;w khepyk; vJ? 
a. cj;jpug;gpuNjrk;  b. jkpo;ehL 
c. mrhk;   d. njYq;fhdh 
 

24. Consider the following: 
1. Bharatiya Poshan Anthem‟ was launched on December 3, which aims at taking the 

message of making India malnutrion free to all corners of the country. 
2. The anthem was penned by lyricist prasoon Joshi and sung by Shankar Mahadevan 
3. Poshan Abhiyan was launched in March 2018 with an objective to make India 

malnutrition free by 2022. 
Which of the above statement is true? 
a. 1 & 2   b. 1 & 3  c. 2 & 3  d. 1, 2 & 3 
gpd;tUk; $w;Wfspy; rhpahdit vit? 
1. “,e;jpa Cl;lr;rj;J fPjk;” brk;gh; 3 Mk; ehs; ntspaplg;gl;lJ.  ,e;jpahtpd; %iy 

KLf;nfq;fpYk; ,e;jpahit Cl;lr;rj;J Fiwghlw;w ehlhf;f nra;jpfis nfhz;L 
Nrh;g;gJ ,jd; Nehf;fkhFk;. 

2. ,e;j fPjj;ij gpu#d; N[h~p vOjpdhh;> rq;fh; kfhNjtd; ghbAs;shh;. 
3. Cl;lr;rj;J jpl;lkhdJ 2022f;Fs; ,e;jpahit Cl;lr;rj;J Fiwghlw;w ehlhf khw;Wk; 

Nehf;fj;jNjhL khh;r; 2018-,y; njhlq;fg;gl;lJ. 
a. 1 & 2   b. 1 & 3  c. 2 & 3  d. 1, 2 & 3 
 

25. Choose the correct Statement: 
1. The Government of India has launched operation clean Art to crackdown illegal trade 

in mangoose hair. 
2. The mangoose is a small carnivoran found in Southern Eurasia and mainland Africa. 
3. It is listed in schedule II (part II) of wildlife Protection Act, 1972? 
a. 1 & 2   b. 2 & 3  c. 1 & 3  d. 1, 2 & 3 
gpd;tUk; $w;Wfspy; rhpahdit vit? 
1. rl;l tpNuhjkhf eilngWk; fPhpg;gps;is Kbapd; th;j;jfq;fis jLf;f ,e;jpa muR 

“Operation Clean Art” I njhlq;fpAs;sJ. 
2. njw;F a+Nu~pah kw;Wk; Mg;hpf;fhtpd; epyq;fspy; fhzg;gLk; ,e;j fPhpfs; rpwpa Cd; 

cz;zpfshFk;. 
3. tdtpyq;F ghJfhg;Gr; rl;lk; 1972-d; njhFjp II gFjp II–y; ,it 

tifg;gLj;jg;gl;Ls;sd. 
a. 1 & 2   b. 2 & 3  c. 1 & 3  d. 1, 2 & 3 
 

26. Consider the following: 
1. ISRO has launched sharp-eyed surveillance satellite RISAT-2BR1 (Radar Imaging 

Satellite -2) with synthetic aperture radar (SAR) on 11th Dec, 2019. 
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2. RISAT – 2BR1 can take pictures of earth during day and night even under cloudy 
conditions.  

3. The satellites will help 24/7 border surveillance along with checking infiltration. 
Which of the above statement is true? 
a. 1 & 2   b. 2 & 3  c. 1 & 3  d. 1, 2 & 3 
 
gpd;tUk; $w;Wfspy; rhpahdit vit? 
1. $h;ikahf Nehf;Fk; fz;fhzpg;G nraw;iff;Nfhshd RISAT – 2BR1 I nraw;ifj; 

Jiw uhlhh; mikg;Gld; brk;gh; 11> 2019-y; ,];Nuh mDg;gpaJ. 
2. RISAT – 2BR1 MdJ gfy; kw;Wk; ,uT Neuq;fspYk; Nkf%l;lkhd #o;epiyfspYk; 

$l g+kpia glk; vLf;f ty;yJ. 
3. ,e;j nraw;iff; NfhshdJ 24/7 vy;iy fz;fhzpg;gpw;Fk;> CLUtiy 

fz;fhzpf;fTk; gad;gLk;.  
a. 1 & 2   b. 2 & 3  c. 1 & 3  d. 1, 2 & 3 
 

27. The First Mega Food Park of Central India was launched in which of the following State? 
a. Maharashtra   b. Madhya Pradesh   
c. Gujarat    d. Uttar Pradesh 
kj;jpa ,e;jpahtpd; Kjy; kpfg;nghpa czTg; g+q;fh ve;j khepyj;jpy; njhlq;fg;gl;lJ? 
a. kfhuh~;buh    b. kj;jpag; gpuNjrk; 
c. F[uhj;    d. cj;jpug;gpuNjrk; 
 

28. According to the report of lancet Global Health which of the following country has 
recorded the highest number of cervical cancer deaths in 2018? 
a. India  b. China c. Ethiopia  d. South Africa 
cyfshtpa Rfhjhu mwpf;ifg;gb 2018 Mk; Mz;by; mjpf vz;zpf;ifapyhd fh;g;gg;ig 
Gw;WNeha; kuzk; ve;j ehl;by; gjpT nra;ag;gl;Ls;sJ? 
a. ,e;jpah  b. rPdh   c. vj;jpNahg;gpah    d. njd; Mg;gphpf;fh 
 

29. Which of the following language has been used for the first time in Rajya Sabha? 
a. Santhali  b. Bodo  c. Dogri  d. Maithili 
gpd;tUk; nkhopfspy; khepyq;fsitapy; Kjd;Kiwahf gad;gLj;jg;gl;Ls;s nkhop vJ? 
a. re;jhyp  b. NghNlh  c. Nlhf;hp  d. ikjpyp 
  

30. Which of the following ports have been declared as ports of call between India and 
Bangladesh? 
a. Mongla and Kolkatta Ports  b. Chattogram and Paradip port 
c. Vishakapattinam and Kolkatta port d. Mongla and Chattogram ports 
,e;jpah kw;Wk; tq;fNjrj;jpw;F ,ilNaahd miog;gpd; JiwKfk; vd mwptpf;fg;gl;lJ 
vJ? 
a. Nkhq;yh kw;Wk; fy;fj;jh JiwKfq;fs; 
b. rl;Nlhfpuhk; kw;Wk; gh;jPg; JiwKfk; 
c. tprhfg;gl;bdk; kw;Wk; nfhy;fj;jh JiwKfk; 
d. Nkhq;yh kw;Wk; rl;Nlhfpuhk; JiwKfq;fs; 
 

http://www.appolosupport.com/


 

10 | Page                       www.appolosupport.com    PH: 9500099706        

 

31. The ISRO (Indian Space Research Organisation) has set-up a new Space Technology 
Incubation centre in which of the following institute? 
a. NIT, Silchar   b. NIT, tiruchirappalli 
c. NIT, Calicut   d. NIT, Warangal 
,e;jpa tpz;ntsp Muha;r;rpf; fofkhdJ (ISRO) vq;F Gjpa tpz;ntsp njhopy;El;g 
cUthf;f ikaj;ij mikf;f cs;sJ? 
a. NIT, rpy;fh;    b. NIT, jpUr;rpuhg;gs;sp 
c. NIT, fs;spf;Nfhl;il  d. NIT, thuhq;fy; 
 

32. Which railway station has become the 5500th station of India to get free Wi-Fi facility? 
a. Egmore Railway Station  b. Adgaon Buzurg Railway Station 
c. Mahuamilan Railway Station d. Bamangachhi Railway Station 
,e;jpahtpd; ,ytr Wi-Fi trjpiag; ngWk; 5500 tJ ,uapy; epiyak; vJ? 
a. vOk;g+h; ,uapy; epiyak;  b. mlfhd; G#h;f; ,uapy; epiyak; 
c. kFkpyd; ,uapy; epiyak; d. ghkd;fhr;rp ,uapy; epiyak; 
 

33. The Provisions of the Citizenship (Amendment) Bill, 2019 are not applicable to tribal 
areas of which state? 
a. Assam  b. Meghalaya  c. Manipur  d. Tripura 
FbAhpik rl;lj;jpUj;j kNrhjh 2019 d; tpjpfs; ve;j khepy goq;Fbapdh; ,lq;fSf;Fg; 
nghUe;jhJ? 
a. mrhk;  b. Nkfhyah  c. kzpg;g+h;  d. jphpGuh 
  

34. Match the following: 
A. International Anti-Corruption day  1. December 8 
B. SAARC Charter day    2. December 9 
C. Human Rights day    3. December 10 
D. International Mountain day   4. December 11 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 3 2 1 
d. 3 4 2 1 
nghUj;Jf: 
A. rh;tNjr CoYf;nfjpuhd ehs;   1. brk;gh; 8 
B. SAARC gl;la jpdk;    2. brk;gh; 9 
C.  kdpj chpikfs; jpdk;    3. brk;gh; 10 
D. rh;tNjr kiyfs; jpdk;    4. brk;gh;  11 
  A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 3 2 1 
d. 3 4 2 1 
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35. Match the following: 
Appointments    Personality 
A. Prime Minister of Finland  1. Sanna Marin 
B. chief design consultant for TRIFED 2. Ritu Beri 
C. President of Algeria   3. Abdelmadjid Tebboune 
D. President of UAE   4. Sheikh Khalifa bin Zayed           
                                                                       Al Nahyan 

A B C D 
a. 2 1 3 4 
b. 1 3 2 4 
c. 1 2 3 4 
d. 4 3 2 1 
nghUj;Jf: 
 epakdq;fs;      egh;fs; 
A. gpd;yhe;jpd; gpujkh;   1. rd;dh khpd; 
B. TRIFED-d; Kjd;ik tbtikg;G 2. Hpj;J nghp 
MNyhrfh; 
C. my;Nfhpahtpd; FbauRj; jiyth; 3. mg;njy; k[;[pj; nlNghd; 
D. If;fpa muG ehLfspd; (UAE)   4. N~f; fypgh gpd; 
FbauRj; jiyth;       iraJ my; ehad; 

A B C D 
a. 2 1 3 4 
b. 1 3 2 4 
c. 1 2 3 4 
d. 4 3 2 1 
 

36. Which of the following country has recently recorded the first polio case in 27 years? 
a. Malaysia    b. Demaratic People‟s Republic of korea 
c. Timor – leste   d. Thailand 
rkPgj;jpy; fle;j 27 Mz;Lfspy; Kjy; NghypNah Neha; ve;j ehl;by; gjpT 
nra;ag;gl;Ls;sJ? 
a. kNyrpah    b. nfhhpah FbauR 
c. fpof;F jpNkhh;   d. jha;yhe;J 
 

37. Who has won the Miss Universe title 2019? 
a. Catriona Gray  b. Demi-Leigh Nel-Peters 
c. Zozibini Tunzi  d. Iris Mittenaere 
2019-d; cyf mofp gl;lk; ntd;wth; ahh;? 
a. Nfj;hpdh fpNu  b. nlkp-Ny ney;-gPl;lh;]; 
c. Nrhrpgpdp Jd;]p  d. Ihp]; kpl;lNdh; 
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38. Match the following: 

Awards     Personality 
A. Gangadhar National Award 2019 1. K.P.Nandakumar 
B. Miss World Asia 2019   2. Amitabh Bachchan 
C. Dadasaheb Phalke Award  3. Suman Rao 
D. 2019 Sasthaaram Award  4. Viswanath Prasad Tiwari 

A B C D 
a. 1 3 2 4 
b. 4 1 2 3 
c. 3 4 2 1 
d. 4 3 2 1 
 
nghUj;Jf: 
tpUJfs;     egh;fs; 
A. fq;fhjh; Njrpa tpUJ 2019  1. K.P. ee;jFkhh; 
B. Mrpa cyf mofp 2019   2. mkpjhg; gr;rd;  
C. jhjh rhfpg; ghy;Nf tpUJ  3. Rkd; uht; 
D. r];jhuk; tpUJ 2019   4. tp];tehj; gpurhj; jpthhp 

A B C D 
a. 1 3 2 4 
b. 4 1 2 3 
c. 3 4 2 1 
d. 4 3 2 1 
 

39. What is the position of India in the Human Development Index-2019? 
a. 129   b. 130   c. 131   d. 132 
kdpjts Nkk;ghl;Lf; FwpaPL 2019 ,y; ,e;jpahtpd; ,lk; vd;d? 
a. 129   b. 130   c. 131   d. 132 
 

40. Who has become the first Indian to play 150 Ranji matches? 
a. Shubman Gill    b. Wasim Jaffer 
c. Aditya Sarwate    d. Faiz Fazal 
150 uQ;rpg;Nghl;bfis tpisahba Kjy; ,e;jpah; ahh;? 
a. Rgkd; fpy;     b. thrpk; [hgh; 
c. Mjpj;ah rh;thl;Nl    d. /ga;]; gry; 
 

41. Which place has ban selected as the leading sports tourism destination of world? 
a. Oman  b. Australia  c. Abu Dhabi  d. India 
cyfpd; Kd;dzp tpisahl;L Rw;Wyh ikakhf Njh;T nra;ag;gl;Ls;s ,lk; vJ? 
a. Xkd;  b. M];jpNuypah c. mG jhgp  d. ,e;jpah 
 

42. How many „Must see Monuments‟ have been identified by Archaeological survey of 
India? 
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a. 132   b. 138  c. 142   d. 148 
,e;jpa njhy;ypay; Jiwahy; milahsk; fhzg;gl;Ls;s “fl;lhak; ghh;f;f Ntz;ba 
epidTr;rpd;dq;fs;” vj;jid? 
a. 132   b. 138  c. 142   d. 148 
 

43. „Iron Union 12‟ – is the joint military exercise between U.S.A and which of the following 
country? 
a. Afghanistan  b. India  c. Nepal  d. UAE 
„Iron Union 12‟ – ,uhZt $l;Lg; gapw;rpahdJ mnkhpf;fhtpw;Fk; ve;j ehl;Lf;Fk; ,ilNa 
eilngw;wJ? 
a. Mg;fhdp];jhd;  b.,e;jpah  c. Neghsk;  d. UAE 
 
 

44. The International Union for the Conservation of Nature (IUCN) has added how many 
species to list of Threatened species? 
a. 1840  b. 1820  c. 1940  d. 1920 
gd;dhl;L ,aw;ifg; ghJfhg;Gr; rq;fk; vj;jid caphpdq;fis mr;RWj;jg;gl;l 
caphpdq;fspd; gl;baypy; Nrh;j;Js;sJ? 
a. 1840  b. 1820  c. 1940  d. 1920 
 

45. Which of the following state has the highest employable talent, According to India Skill 
Report? 
a. Gujarat b. Maharashtra c. TamilNadu d. Andra Pradesh 
,e;jpa jpwd; mwpf;ifapd;gb mjpf Ntiy nra;Ak; jpwik nfhz;l khepyk; vJ? 
a. F[uhj; b. kfhuh~;buh  c. jkpo;ehL  d. Me;jpugpuNjrk; 
 

46. Match the following: 
A. National Energy Conservation Day  1. December 14 
B. National Consumer Day    2. December 24 
C. World Tsunami Awareness day  3. November 5 
D. Good Governance day    4. December 25 

  A B C D 
a. 4 2 3 1 
b. 2 4 3 1 
c. 1 2 3 4 
d. 1 4 3 2 
nghUj;Jf: 
A. Njrpa Mw;wy; Nrkpg;G ehs;  1. brk;gh; 14 
B. Njrpa Efh;Nthh; jpdk;   2. brk;gh; 24 
C. cyf Rdhkp tpopg;Gzh;T ehs;  3. etk;gh; 5 
D. Njrpa ey;yhl;rp jpdk;   4. brk;gh; 25 

    A B C D 
a. 4 2 3 1 
b. 2 4 3 1 
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c. 1 2 3 4 
d. 1 4 3 2 
 

47. Parivara, Talwara and Siddi are the scheduled Tribes of which Indian state? 
a. Kerala  b. Karnataka  c. Tamil Nadu d. Bihar 
ghpthuh> jy;thuh> rpj;jp Mfpa goq;Fb ,dj;jth; ve;j khepyj;ijr; Nrh;e;jth;fs;? 
a. Nfush  b. fh;ehlfh  c. jkpo;ehL  d. gPfhh; 
 

48. Which of the following country has left 2050 climate Neutrality Agreement of European 
Union? 
a. Poland  b. Greece  c. Sudan  d. Ethiopia 
INuhg;gpa xd;wpaj;jpd; fhyepiy eLepiy xg;ge;jj;jpy; (2050) ,Ue;J ntspNawpa ehL 
vJ? 
a. Nghye;J  b. fphP];  c. #lhd;  d. vj;jpNahg;gpah 
 

49. Who has been named as the 2019 person of the year by TIME Magazine? 
a. Donald Trump    b. Narendra Modi 
c. Pope Francis    d. Greta Thunberg 
ilk; gj;jphpf;ifapy; 2019 Mk; Mz;bd; rpwe;j egh; vd Fwpg;gplg;gl;Ls;sth; ahh;? 
a. nlhdhy;l; l;uk;g;    b. eNue;jpu Nkhb 
c. Nghg; gpuhd;rp];    d. fpNul;lh Jd;ngh;f; 
 

50. Which Indian city has become the first city to have an online waste exchange for 
municipal solid waste? 
a. Indore  b. Lucknow  c. Chennai  d. Itanagar 
efuhl;rp jplf;fopTfSf;fhd ,iza top fopT ghpkhw;wk; Kiwiaf; nfhz;l 
,e;jpahtpd; Kjy; efuk; vJ? 
a. ,e;J}h;  b. yf;Ndh  c. nrd;id  d.,l;lh efh; 
 

51. Who has been appointed as the High Commissioner of India to the Republic of Ghana? 
a. Taranjit Singh Sandhu   b. C. Sugandh Rajaram 
c. A.Gitesh Sarma    d. Riva ganguly Das 
fhdh Fbaurpw;fhd ,e;jpa cah; Mizauhf epakdk; nra;ag;gl;Ls;sth; ahh;? 
a. juQ;rpj; rpq; re;J    b. C. Rfe;j; uh[huhk; 
c. A. [pj;Nj~; rh;kh    d. hpth fq;Fyp jh]; 
 

52. Match the following: 
Festival     State/Country 
A. National Tribal Dance Festival  1. Madhya Pradesh 
B. Harbin Ice Festival   2. China 
C. Losar Festival    3. Raipur 
D. Mandu Festival    4. Ladakh 
 A B C D 
a. 1 2 3 4 
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b. 3 2 4 1 
c. 3 4 2 1 
d. 4 3 2 1 
nghUj;Jf: 
jpUtpoh     khepyk; / ehL 
A. Njrpa goq;Fb eldj; jpUtpoh  1. kj;jpa gpuNjrk; 
B. `h;gpd; I]; jpUtpoh   2. rPdh 
C. Nyhrh; jpUtpoh    3. uha;g;g+h; 
D. khz;L jpUtpoh    4. ylhf; 
 A B C D 
a. 1 2 3 4 
b. 3 2 4 1 
c. 3 4 2 1 
d. 4 3 2 1 
 

53. What is the name of the trilateral naval exercise held between India, U.S and Japan 
a. Surya Kiran   b. Hand-in-hand 
c. SIMBEX    d. Malabar 
,e;jpah> mnkhpf;fh> [g;ghd; ,ilNaahd Kj;jug;G flw;gilg; gapw;rpapd; ngah; vd;d? 
a. #h;ah fpuz;   b. N`z;l; ,d; N`z;l; 
c. SIMBEX    d. kyghh; 
 

54. The kuril Island is the disputed territory between which of the following two countries? 
a. Japan and Russia    b. Russia and U.S.A 
c. Japan and U.S.A    d. U.S.A and China 
Fhpy; jPT vd;gJ ve;j ,U ehLfSf;F ,ilNaahd rh;r;irf;Fhpa gpuNjrkhf cs;sJ? 
a. [g;ghd; kw;Wk; u~;ah   b. u~;ah kw;Wk; mnkhpf;fh 
c. [g;ghd; kw;Wk; mnkhpf;fh  d. mnkhpf;fh kw;Wk; rPdh 
 

55. Match the following: 
Scheme     State 
A. Jalasathi Program   1. Odisha 
B. Mukhyamantri Suposhan Abhiyan 2. Chhatisgarh 
C. Meal in exchange for plastic waste 3. Odisha 
D. Sishu Suraksha app   4. Assam 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 2 3 1 4 
d. 4 3 2 1 
nghUj;Jf: 
jpl;lk;       khepyk; 
A. [y; rjp jpl;lk;     1. Xbrh 
B. Kjyikr;rh; Cl;lr;rj;J jpl;lk;  2. rl;B];fh; 
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C. gpsh];bf; fopTf;F ghpkhw;wkhf czT 3. Xbrh 
D. rpR Ruf;~h nrayp    4. mrhk; 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 2 3 1 4 
d. 4 3 2 1 
 

56. „The Nord Stream 2‟ is a gas pipeline project between which of the following countries? 
a. India and UAE    b. Russia and UAE 
c. USA and Afghanistan   d. Russia and Germany 
 
„The Nord Stream 2‟ vd;gJ ve;j ehLfSf;F ,ilNaahd vhpthA Foha; jpl;lkhFk;? 
a. ,e;jpah kw;Wk; UAE   b. u~;ah kw;Wk; UAE 
c. mnkhpf;fh kw;Wk; Mg;fhdp];jhd; d. u~;ah kw;Wk; n[h;kdp 
 

57. The Galapages National Park is located in which of the following country? 
a. U.S.A b. Ecuador  c. India d. Papua New Guinea 
fyhgf]; Njrpa g+q;fh ve;j ehl;by; mike;Js;sJ? 
a. mnkhpf;fh b. <f;FtNlhh;  c.,e;jpah d. gg;Gth epa+ fpdpah 
 

58. The Food and Drug Administration (FDA) has approved Ervebo.  What is Ervebo? 
a. Polio Vaccine    b. Malaria Vaccine 
c. Ebolo Vaccine    d. Measles Vaccine 
czT kw;Wk; kUe;J eph;thfk; vh;tNgh it mDkjpj;Js;sJ vh;tNgh vd;gJ vd;d? 
a. NghypNah jLg;g+rp    b. kNyhpah jLg;g+rp 
c. vNghyh jLg;g+rp    d. mk;ik jLg;g+rp 
    

59. Consider the following: 
1. The National Farmers Day is celebrated on Dec 23 every year. 
2. It is celebrated to mark the birth anniversary of 5th Prime Minister Late chaudhary 

Charan Singh. 
Which of the above statement is not true? 
a. 1   b. 2  c. Both   d. None 
gpd;tUk; $w;Wfspy; jtwhdit vit? 
1. Njrpa coth; jpdk; xt;nthU Mz;Lk; brk;gh; 23 md;W nfhz;lhlg;gLfpwJ. 
2. 5tJ gpujkuhd> ,we;j nrsj;hp ruz; rpq; gpwe;jehis epidT$Wk; tpjkhf ,J 

nfhz;lhlg;gLfpwJ. 
a. 1   b. 2  c. ,uz;Lk;    d. vJTkpy;iy 
 

60. „The Kirtipur Girls‟ Hostel was constructed by the Indian government for the armed 
police force of which country? 
a. Bhutan  b. Nepal  c. Bangladesh d. Srilanka 
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MAjNke;jpa fhty; gilf;fhf „The Kirtipur‟ ngz;fs; tpLjpia ,e;jpa muR ve;j 
ehl;by; fl;bAs;sJ? 
a. G+lhd;  b. Neghsk;  c. tq;fNjrk;  d. ,yq;if 
  

61. Which state has decided to observe 2020 as Susashan Sankalp Varsh? 
a. Bihar  b. Haryana  c. Uttarakhand  d. Rajasthan 
2020 I „Susashan Sankalp Varsh‟ Mf mDrhpf;f KbT nra;Js;s khepyk; vJ? 
a. gPfhh;  b. `hpahdh  c. cj;jufhz;l; d. uh[];jhd; 
 

62. The India‟s first university for transgender community will be launched in which state? 
a. Uttar Pradesh b. Telangana  c. Odisha  d. Tamil Nadu 
,e;jpahtpd; jpUeq;iffs; r%fj;jpw;fhd Kjy; gy;fiyf;fofk; mikaTs;s khepyk; 
vJ? 
a. cj;jpu gpuNjrk; b. njYq;fhdh c. xbrh d. jkpo;ehL 
 

63. Which of the following is called as the Falcon Capital of the world? 
a. Qatar b. Ireland  c. Nagaland  d. United Kingdom 
cyfpd; uh[hspg; gwitfspd; jiyefuk; vd miof;fg;gLk; ,lk; vJ? 
a. fj;jhh; b. mah;yhe;J  c. ehfhyhe;J  d. ,q;fpyhe;J 
  

64. What is the name of the astronaut who has set the record for the longest spaceflight by a 
woman? 
a. Christina Koch    b. Jessica Meir 
c. Peggy Whitson    d. Anne Mcclain 
kpf ePz;l tpz;ntspg; gazk; Nkw;nfhz;l ngz; vd;w rhjidia Ghpe;j tpz;ntsp 
tPuhq;fid ahh;? 
a. fpwp];bdh Nfhr;    b. n[rpfh Nkah; 
c. ngf;fp tpl;rd;    d. md;dp nkf;fpisd; 
 

65. Which Indian city has been designated as the „Creative City of Gastronomy‟ by 
UNESCO? 
a. Hyderabad b. Kanyakumari c. Varanasi  d. Allahabad 
And];Nfhthy; “rikay;fiyapd; gilg;G efuk;” vd mq;fPfhpf;fg;gl;l ,e;jpa efuk; 
vJ? 
a. i`juhghj; b. fd;dpahFkhp c. thuzhrp  d. myfhghj; 
 

66. Match the following: 
Summit      State / Country 
A. 35th ASEAN Summit    1. Islamabad, Pakistan 
B. UN Climate Change Conference (COP 25) 2. Gurugram, India 
C. Asia Pacific Golf Summit (APGS) 3. Bangkok, Thailand 
D. IUCN Asia Regional Conservation Forum,  4. Madrid, Spain 
2019 
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 A B C D 
a. 4 3 2 1 
b. 1 2 3 4 
c. 3 4 2 1 
d. 3 2 4 1 
nghUj;Jf: 
 khehL      khepyk; / ehL 
A. 35tJ ASEAN cr;rp khehL  1. ,];ykhghj;> ghfp];jhd; 
B. I.eh fhyepiy khw;wk; khehL   2. FUfpuhk;> ,e;jpah  
(COP 25) 
C. Mrpah grpgpf; Nfhy;g; khehL  3. ghq;fhf;> jha;yhe;J 
D. IUCN Mrpa gpuhe;jpa ghJfhg;G 4. khl;hpl;> ];ngapd; 
kd;wk; 2019 
 
 A B C D 
a. 4 3 2 1 
b. 1 2 3 4 
c. 3 4 2 1 
d. 3 2 4 1 
 

67. The „DUSTlik-2019‟ – the first ever joint military exercise is between Indian and which 
country? 
a. Kazakhstan   b. Uzbekistan 
c. Tajikistan    d. Kyrgyztan 
„DUSTlik-2019‟ vDk; ,uhZt $l;Lg;gapw;rpahdJ Kjd;Kiwahf ,e;jpah kw;Wk; ve;j 
ehl;bw;F ,ilNa eilngw;wJ? 
a. f[f];jhd;    b. c];ngfp];jhd; 
c. jh[pfp];jhd;   d. fph;fp];jhd; 
 

68. Match the following: 
Award      Personality 
A. Italian Golden Sand Art Award 2019  1. Sudarsan Pattnaik 
B. JCB Prize for literature 2019   2. Madhuri Vijay 
C. 27th Ezhuthachan Puraskaram 2019  3. Anand 
D. Raja Ram Mohan Roy Award   4. Gulabkothari 
 A B C D 
a. 1 3 2 4 
b. 1 2 3 4 
c. 1 2 4 3 
d. 1 4 2 3 
nghUj;Jf: 
tpUJ       egh;fs; 
A. ,j;jhypa jq;f kzw;fiy tpUJ 2019 1. Rjh;rd; gl;ehaf; 
B. ,yf;fpaj;jpw;fhd JCB ghpR 2019  2. khJhp tp[a; 
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C. 27tJ vOj;jr;rd; Gu];fhuk; 2019  3. Mde;j; 
D. uh[h uhk; Nkhfd; uha; tpUJ   4. Fyhg; Nfhj;jhhp 
 A B C D 
a. 1 3 2 4 
b. 1 2 3 4 
c. 1 2 4 3 
d. 1 4 2 3 
 

69. Which country has won the 2019 Rugby world cup held in Japan? 
a. England     b. Japan 
c. New Zealand    d. South Africa 
2019 Mk; Mz;bd; [g;ghdpy; eilngw;w uf;gp cyff; Nfhg;igia ntd;w ehL vJ? 
a. ,q;fpyhe;J     b. [g;ghd; 
c. epa+rpyhe;J     d. njd; Mg;hpf;fh 
 

70. Which Indian Institute of Technology (IIT) has launched „Arise-A Standing Wheel Chair‟ 
for disabled? 
a. IIT-Madras   b. IIT-Kharagpur 
c. IIT-Delhi    d. IIT – Kanpur 
khw;Wj; jpwdhspfSf;fhf “vO-epw;Fk; rf;fu ehw;fhypia” cUthf;fpAs;s ,e;jpa 
njhopy;El;gf; fofk; (IIT) vJ? 
a. IIT- nkl;uh];   b. IIT- fuf;g+h; 
c. IIT- nly;yp    d. IIT – fhd;g+h; 
 

71. Which of the following country has approved the world‟s first drug for Alzheimer‟s 
disease „GV-971‟? 
a. U.S.A  b. China c. Germany  d. Japan 
my;rPkpah; Neha;fhd cyfpd; Kjy; kUe;jpid „GV-971‟ mq;fPfhpj;Js;s ehL vJ? 
a. mnkhpf;fh  b. rPdh  c. n[h;kdp  d. [g;ghd; 
 

72. The first – ever – tri – exercise „Tiger TRIUMPH‟ was held between India and which 
country? 
a. Uzbekistan  b. Sweden  c. China d. USA 
„Tiger TRIUMPH‟ vDk; Kjd;Kjy; Kg;gil gapw;rpahdJ ,e;jpah kw;Wk; ve;j ehl;bw;F 
,ilNa ele;jJ? 
a. c];ngfp];jhd;  b. ];tPld;  c. rPdh  d. mnkhpf;fh 

 
73. Harmonized System (HS) code – is related to  

a. Banking  b. Khadi c. Agriculture d. Medical 
“,zf;fkhd fzpdp FwpaPL” vj;Jld; njhlh;GilaJ? 
a. tq;fp  b. fhjp  c. Ntshz;ik  d. kUj;Jtk; 
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74. The World‟s first CNG Port terminal will be launched in which Indian City? 
a. Bhav nagar b. Chennai  c. Vishakapatnam d. Mumbai 
cyfpd; Kjy; CNG JiwKf Kidak; ,e;jpahtpd; ve;j efuj;jpy; epWtg;gl cs;sJ? 
a. ght; efh;  b. nrd;id  c. tprhfg;gl;bdk; d. Kk;ig 
 

75. India‟s first elephant memorial will be launched in 
a. Srivilliputtur     b. Karbi Anglong 
c. Nilgiri     d. Mathura 
,e;jpahtpd; Kjy; ahid epidtfk; vq;F epWtg;gl cs;sJ? 
a. =tpy;ypGj;J}h;    b. fh;gp Mq;yhq; 
c. ePyfphp     d. kJuh 
 

76. Calculate the area of a sector whose diameter and arc length are 30cm and 26cm 
respectively. 

 a. 195 sq.cm   b. 175 sq.cm  c. 165 sq.cm  d. 185 sq.cm 
tpl;lk; 30 nr.kP tpy;ypd; ePsk; 26 nr.kP nfhz;Ls;s tl;l Nfhzg; gFjpapd; gug;G 
fhz;f.  
a. 195 r.nr.kP  b. 175 r.nr.kP  c. 165 r.nr.kP  d. 185 r.nr.kP  

 
77. A picture of length 23 cm and breadth 11 cm is painted on a chart, such that 
 there is a margin of 3 cm along each of its sides. Find the total area of the  margin. 

a. 188 sq.cm  b. 170 sq.cm  c. 168 sq.cm  d. 253 sq.cm 
23 nr.kP ePsKk;> 11 nr.kP mfyKk; cs;s Xh; ml;ilapy;> midj;Jg; gf;fq;fspYk; 3 
nr.kP tpspk;G(margin) ,Uf;Fk; tifapy; Xu; Xtpak; tiuag;gl;Ls;sJ. 
a. 188 r.nr.kP  b. 170 r.nr.kP  c. 168 r.nr.kP  d. 253 r.nr.kP  

 
78. A Rose garden is in the form of circle of radius 63 m. The gardener wants to fence it at the 

rate of ` 150 per metre. Find the cost of fencing? 
a. `50,000  b. `56,000  c. `59,800  d. `59,400 
63 kP MuKs;s tl;l tbtpy; xU Nuh[hj; Njhl;lk; cs;sJ. mjd; Njhl;lf;fhuh;> 
kPl;lUf;F ` 150 tPjk; nryT nra;J> mj;Njhl;lj;jpw;F Ntyp mikf;f tpUk;Gfpwhh; vdpy;> 
mjw;F MFk; nkhj;j nryitf; fzf;fpLf. 

 a. `50,000  b. `56,000  c. `59,800  d. `59,400 
 
79. The radius of a tractor wheel is 77 cm. Calculate the distance covered by it in 35 

rotations? 
22

7

 

 
 

 

a. 16940 cm  b. 1694 cm  c. 3388 cm  d. 847 cm 
xU buhf;lh; tz;br; rf;fuj;jpd; Muk; 77 nr.kP vdpy;> mJ 35 Kiw Rw;Wk;NghJ> flf;Fk; 

njhiyitf; fhz;f. 
22

7

 

 
 

  

a. 16940 nr.kP  b. 1694 nr.kP  c. 3388 nr.kP  d. 847 nr.kP 
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80. A wire of length 1320 cm is made into circular frames of radius 7 cm each. How many 
frames can be made? 
a. 20  b. 40   c. 60   d. 30 
1320 nr.kP ePsKs;s xU fk;gp> 7 nr.kP MuKs;s tl;lq;fshf khw;wg;gLfpwJ vdpy;> 
vj;jid tl;lf;fk;gpfis cUthf;f KbAk; vdf; fzf;fpLf. 
a. 20  b. 40   c. 60   d. 30 

 
81. A brick measures 20 cm x 10 cm x 7.5 cm. How many bricks will be required for a wall 20 

m x 2 m x 0.75 m? 
a. 10,000  b. 15,000  c. 20,000  d. 25,000 
xU nrq;fypd; msT 20 nr.kP × 10 nr.kP 7.5 nr.kP MFk;.  20 kP × 2 kP × 0.75 kP 
msTs;s Rth; fl;Ltjw;F vj;jid nrq;fw;fs; Njitg;gLk;?  
a. 10,000  b. 15,000  c. 20,000  d. 25,000 

 
82. Area of trapezium is 960 cm2 . The parallel sides are 40 cm and 60 cm. Find the distance 

between parallel sides 
 a. 18.2 cm  b. 19.2 cm   c. 20.4 cm   d. 21.4 cm 

xU rhptfj;jpd; gug;G 960 cm2. mjd; ,iz gf;fq;fs; 40 cm kw;Wk; 60 cm vdpy; 
 ,iz gfq;fSf;F ,ilg;gl;l J}uj;ij fhz;. 

 a. 18.2 cm  b. 19.2 cm   c. 20.4 cm   d. 21.4 cm 
 
83. Three equal circles of radius 3cm touch one another in outside.  Find the area enclosed by 

them  
a. 10.88cm2  b. 1.45cm2  c.6.11cm2  d. 29.73cm2 
3nr.kP MuKs;s %d;W tl;lq;fs; xd;iwnahd;W ntspNa njhLk;NghJ mtw;why; 
#og;gLk; gFjpapd; gug;G 
a. 10.88nr.kP2  b. 1.45nr.kP2  c. 6.11nr.kP2  d. 29.73nr.kP2 

 
84. A silver wire when bent in the form of square encloses an area of 121 sq.cm. If the same 

wire is bent in the form of a circle. Find the radius of Circle. 
a. 11cm        b. 7 cm  c.  3. 5 cm        d. 14 cm      
xU nts;sp fk;gpia tisj;J xU rJukhf khw;wg;gLfpwJ.  rJuj;jpd; gug;G 121 
r.nr.kP.  mNj fk;gpia tisj;J xU tl;lkhf khw;wpdhy; me;j tl;lj;jpd; Muk; vd;d? 
a. 11 nr.kP  b. 7 nr.kP  c. 3.5 nr.kP  d. 14 nr.kP 

 
85. Area of circle is equal to the area of a rectangle having perimeter of 50 cm and the length 

is more than its breadth by 3 cm. What is the diameter of the circle? 
a. 7 cm   b. 21cm   c. 14 cm   d.      28 cm     
xU tUlj;jpd; gug;Gk;> nrt;tfj;jpd; Rw;wsTk; rkkhf cs;sJ. mit 50 nr.kP 
nrt;tfj;jpd; ePsk; mfyj;ij 3 nr.kP mjpfkhf cs;sJ> vdpy; tl;lj;jpd; tpl;lk; 
vt;tsT?  
a. 7 nr.kP  b. 21 nr.kP  c. 14 nr.kP  d. 28 nr.kP  

 
86. The length and breadth of a square are increased by 30% and 20% respectively. By what 

percent the area of the resulting rectangle exceeds the area of the square? 
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a. 44%                b. 58%                c. 56%                 d. 66% 
xU rJuj;jpd; ePsKk; mfyKk; KiwNa 30 tpOf;fhL kw;Wk; 20 tpOf;fhL 
mjpfhpf;fg;gLfpd;wd.  ,jd; fhuzkhff; fpilf;Fk; nrt;tfj;jpd; gug;gsT> rJuj;jpd; 
gug;gsit tpl vj;jid tpOf;fhL mjpfk; MFk;? 
a. 44%                b. 58%                c. 56%                 d. 66% 

 
87. Find out the number of marble slabs of size 50 cm x 40 cm required to pave the floor of a 

square room of side 4 metres. 
 a. 60   b. 80   c. 100     d. 500 
 xU rJu jsepug;gpapd; msT 50 nr.kP x 40 nr.kP. 4 kP gf;f mstpid  nfhz;l 
 miwapid jsepug;Gtjw;F Njitg;gLk; jsepug;gpfs; vj;jid? 
 a. 60   b. 80   c. 100     d. 500 
 
88. Find the cost of fencing a square park of side 250 m at the rate of Rs. 20 per meter. 

a. Rs. 10,000  b. Rs. 5,000  c. Rs. 15,000  d. Rs. 20,000 
250 kPl;lh; gf;f msT nfhz;l rJu tbtpyhd G+q;fhtpw;F Ntyp mikf;f kPl;lh; 
xd;Wf;F &.20 nryT nra;jhy; Ntyp mikg;gjw;F MFk; nkhj;j nryT vd;d? 
a. Rs. 10,000  b. Rs. 5,000  c. Rs. 15,000  d. Rs. 20,000 

 
89. The perimeter of a circle is equal to the perimeter of a square. Then, their areas are in the 

ratio 
a. 4 : 1   b. 11 : 7  c. 14 : 11  d. 22 : 7 
xU tl;lj;jpd; Rw;wsT> xU rJuj;jpd; Rw;wstpw;F rkk; vdpy; mjd; gug;Gfspd; tpfpjk; 
a. 4 : 1   b. 11 : 7  c. 14 : 11  d. 22 : 7  

 
90. The length of a rectangular plot is 5/4 times the breadth and the area is 16/5 hectares. 

Calculate the Perimeter of the plot. 
a.  160m                b.  200m               c.  720m                 d.  360m 
xU nrt;tf tbt epyj;jpd; ePsk;> mjd; mfyj;ijg; Nghy 5/4 klq;F mjpfk; MFk;.  
mjd; gug;gsT 16/5 n`f;Nlh;fs;.  me;j epyj;jpd; Rw;wsitf; fz;Lgpbf;fTk;. 
a.  160kP                b.  200kP   c.720kP            d.  360kP 

 
91. The area of triangle whose vertices are (2,3) (-1,0) and (2,-4) is 
 a. 21 sq. units    b. 10.5 sq. units   
 c. 25 sq. units    d. 22 sq. units  

(2,3) (-1,0) kw;Wk; (2,-4) Mfpatw;iw Kidfshff; nfhz;l Kf;Nfhzj;jpd; gug;G  
 a. 21 r.myFfs;   b. 10.5 r.myFfs; 
 c. 25 r.myFfs;   d. 22 r.myFfs; 
 
92. The length of the arc of a sector having central angle 90˚ and radius 7 cm is 

a. 22 cm   b. 44 cm   c. 11 cm   d. 33 cm  
tl;ltpy; ikaj;jpy; jhq;Fk; Nfhzk; 90˚ mjd; Muk; 7 nr.kP vdpy;> tl;l tpy;ypd; ePsk; 
a. 22 nr.kP  b. 44 nr.kP  c. 11 nr.kP  d. 33 nr.kP 
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93. A polygon, the sum of whose interior angles is equal to 360 is called: 
a. Quadrilateral b. triangle  c. pentagon  d. hexagon 

cl;Nfhzq;fspd; $Ljy; 360 nfhz;l gyNfhzk;: 
a. ehw;fuk;  b. Kf;Nfhzk; c. Iq;Nfhzk; d. mWq;Nfhzk; 

 
94. A diagonal of a quadrilateral is 25 cm, and perpendicular on it from the opposite vertices 

are 5 cm and 7 cm. Find the area of the quadrilateral. 
a. 250 cm2  b. 200 cm2  c. 150 cm2  d. 100 cm2 
xU ehw;fuj;jpd; %iytpl;lk; 25 nr.kP. vjph; cr;rpfspy; ,Ue;J %iytpl;lj;jpd; 
Nkyike;j nrq;Fj;jpd; ePsq;fs; 5 nr.kP. 7 nr.kP vdpy; ehw;fuj;jpd; gug;gsT ahJ? 
a. 250 cm2  b. 200 cm2  c. 150 cm2  d. 100 cm2 

 
95. The diagonals of a kite are of length 8 cm and 10 cm. Then its area is  

a. 80 
2cm   b. 40 

2cm   c. 18 
2cm   d. 9 

2cm  
xU gl;lj;jpd; %iy tpl;lq;fspd; ePsk; 8 nr.kP kw;Wk; 10 nr.kP vdpy; mjd; gug;gsT 
vt;tsT? 

a. 80 2cm   b. 40 2cm   c. 18 2cm   d. 9 2cm  
 

96. The ratio of the incircle and circumcircle of a square is 
a. 1 : 2   b. 2 : 3  c. 3 : 4   d. 4 : 5 
xU rJuj;jpd; gf;fq;fisj; njhl;Lr; nry;Yk; cs;tl;lk; kw;Wk; Kidg;Gs;sp topNar; 
nry;Yk; ntsptl;lj;jpd; gug;Gfspd; tpfpjk; 
a. 1 : 2   b. 2 : 3  c. 3 : 4   d. 4 : 5 

 
97. A square and an equilateral triangle are drawn on the same base. The ratio of their areas 

is: 

a. 2 : 1   b. 1 : 1   c. 3 : 4   d. 4 : 3  
xU rJuk; kw;Wk; xU rkgf;f Kf;Nfhzk; Mfpait xNu mbg;ghfj;jpy; 
tiuag;gLfpd;wd.  mtw;wpd; gug;gsTfSf;F ,ilNaahd tpfpjk;: 

a. 2 : 1   b. 1 : 1   c. 3 : 4   d. 4 : 3  
 
98. The difference between the length and breadth of a rectangle is 5m. If its perimeter is 

82m, then its area is... 
a. 400m2  b. 414m2              c. 428m2                 d. 440m2 

xU nrt;tfj;jpd; ePsj;jpw;Fk; mfyj;jpw;Fk; ,ilapyhd tpj;jpahrk; 5 kPl;lh;fs;.  mjd; 
Rw;wsT 82 kPl;lh;fs;.  mjd; gug;gsT ... 
a. 400 r.kP  b. 414 r.kP            c. 428 r.kP                d. 440 r.kP 

 
99. The radius and height of the cone are 7 cm and 24 cm respectively. Find the surface area 

of the cone (CSA) 
a. 505 cm2   b. 290 cm2   c. 360 cm2   d. 550 cm2   xU 

 $k;gpd; Muk; 7 nr.kP> cauk; 24 nr.kP> vdpy; tisgug;G fhz;f. 
 a. 505 nr.kP2  b. 290 nr.kP2  c. 360 nr.kP2  d. 550 nr.kP2 
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100. Find the volume and surface area of cuboid 16 m long, 14m broad and 7m high  
a. 1568 m3, 868 cm2   b. 1560 m3, 864 cm2 
c. 1460 m3, 860 cm2   d. 1320 m3, 850 cm2 

16 m ePsKk;> 14 m mfyKk;> 7 m cauKk; nfhz;l fdr; nrt;tfj;jpd; fd msT 
kw;Wk; gug;G fz;Lgpb 
a. 1568 m3, 868 cm2   b. 1560 m3, 864 cm2 
c. 1460 m3, 860 cm2   d. 1320 m3, 850 cm2 

 
101. A hemi spherical bowl of radius 30cm is filled with soap paste. If this paste is made into 

cylindrical soap cakes each of diameter 10cm and height 2cm how many cakes do we 
get?       
a. 90   b. 360   c. 720   d. 180                                                    
30 nr.kP MuKs;s miuf; Nfhs tbt Fg;gp Nrhg;Gf; $ohy; epug;gg;gl;Ls;sJ. ,e;j 
Nrhg;Gf; $iof; nfhz;L> 10 nr.kP tpl;lKk;> 2 nr.kP cauKk; cs;s cUis tbt 
Nrhg;Gf; fl;bfs; vj;jid nra;ayhk;?  
a. 90   b. 360   c. 720   d. 180 

 
102. The radii of two right circular cylinders are in the ratio of 3 : 2 and their heights are in the 

ratio 5 : 3.  Find the ratio of their curved surface areas. 
a. 5 : 2         b. 2 : 5       c.  3 : 2      d.  5 : 3 
,uz;L Neh;tl;l cUisfspd; Muq;fspd; tpfpjk; 3 : 2 vd;f. NkYk; mtw;wpd; 
cauq;fspd; tpfpjk; 5 : 3 vdpy; mtw;wpd; tisgug;Gfspd; tpfpjk; fhz;f. 
a. 5 : 2         b. 2 : 5       c.  3 : 2      d.  5 : 3 

 
103. A sector containing an angle of 240˚ is cut off from a circle of radius 42 cm and folded 

into a cone, then the curved surface area of the cone is 
a. 4624 cm2  b. 3696 cm2  c. 6369 cm2  d. 6639 cm2 
42 nr.kP MuKs;s xU tl;lj;jpypUe;J 240˚ ikaf;Nfhzk; nfhz;l xU 
tl;lf;Nfhzg;gFjpia ntl;b vLj;J> mjd; Muq;fis xd;wpizj;J xU $k;ghf;fpdhy; 
fpilf;Fk; $k;gpd; tisgug;G 
a. 4624 nr.kP2  b. 3696 nr.kP2  c. 6369 nr.kP2  d. 6639 nr.kP2 

 
104. A frustum of a right circular cone is of height 16 cm with radii of its ends as 8 cm and 20 

cm.  Then, the volume of the frustum is 
 a. 3328 πcm3    b. 3228 πcm3    c. 3240 πcm3     d. 3340 πcm3 

16 nr.kP cauKs;s xU Neu;tl;lf; $k;gpd; ,ilf;fz;l Muq;fs; 8 nr.kP kw;Wk; 20 
 nr.kP vdpy;> mjd; fd msT 

 a. 3328πf.nr.kP   b. 3228πf.nr.kP c. 3240πf.nr.kP  d. 3340πf.nr.kP 
 
105. A solid sphere of radius x cm is melted and cast into a shape of a solid cone of same 

radius.  The height of the cone is 
a. 3 x cm  b. x cm  c. 4 x cm  d. 2 x cm 
x nr.kP MuKs;s xU jpz;kf; Nfhsk; mNj MuKs;s xU $k;ghf khw;wg;gLfpwJ vdpy;> 
$k;gpd; cauk; 
a. 3 x nr.kP  b. x nr.kP  c. 4x nr.kP  d. 2x nr.kP 
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106. In a hollow cylinder, the sum of the external and internal radii is 14 cm and the width is 4 

cm.  If its height is 20 cm, the volume of the material in it is 
a. 5600πcm3  b. 11200πcm3  c. 56πcm3  d. 3600πcm3 
Xu; cs;sPlw;w cUisapd; ntspg;Gw kw;Wk; cl;Gw Muq;fspd; $Ljy; 14 nr.kP kw;Wk; 
mjd; jbkd; 4 nr.kP MFk;.  cUisapd; cauk; 20 nr.kP vdpy;> mjid cUthf;fg; 
gad;gl;l nghUspd; fd msT 
a. 5600πf.nr.kP   b. 11200πf.nr.kP c. 56πf.nr.kP  d. 3600πf.nr.kP 

 
107. If two solid hemispheres of same base radius r units are joined together along their bases, 

then curved surface area of this new solid is 

 a. 4πr2 sq. units      b. 6πr2 sq. units  
c. 3πr2 sq. units      d. 8πr2 sq. units 

 r myFfs; Muk; cila ,U rk miuf;Nfhsq;fspd; mbg;gFjpfs;  ,izf;fg;gLk; 
 NghJ cUthFk; jpz;kj;jpd; Gwg;gug;G  
 a. 4πr2 r.m   b. 6πr2 r.m  

c. 3πr2 r.m   d. 8πr2 r.m 
 
108. A toy is in the shape of a cylinder surmounted by a hemisphere.  The  

height of the toy is 25 cm.  Find the total surface area of the toy if its common diameter is 
12 cm. 
a. 4624 cm2  b. 2112 cm2  c. 528 cm2  d. 1056 cm2 
Xu; cUisapd; kPJ Xu; miuf;Nfhsk; ,ize;jthW cs;s xU nghk;ikapd; nkhj;j 
cauk; 25 nr.kP MFk;.  mjd; tpl;lk; 12 nr.kP vdpy;> nghk;ikapd; nkhj;jg; Gwg;gug;igf; 
fhz;f. 
a. 4624 cm2  b. 2112 cm2  c. 528 cm2  d. 1056 cm2 

 
109. The volume of the largest circular cone that can be cut of cube whose edge is 14 cm is 

a. 718.67 cm3  b. 718.76 cm3  c. 781.67 cm3  d. 781.76 cm3 

14 nr.kP. gf;f msTfs; nfhz;l xU fd rJuj;jpy; ,Ue;J ntl;b vLf;fg;gLk; kpf 
nghpa $k;gpd; fd msT. 

 a. 718.67 cm3  b. 718.76 cm3  c. 781.67 cm3  d. 781.76 cm3 

 

110. A cube of edge 15 cm is immersed completely in a rectangular vessel containing water. If 

the dimensions of the base vessel are 20 cm  15 cm, find the rise in water level 
a. 10.25 cm  b. 11.25 cm  c. 11 cm  d. 10 cm 
xU nrt;tf tbtg;ghj;jpuj;jpy; cs;s jz;zPhpy;> KOtJkhf %o;fp xU 15nr.kP 
gf;fKs;s fdrJuk; cs;sJ.  ghj;jpuj;jpd; mbg;ghfj;jpd; ghpkhzk; 20nrkP15 nrkP vd 
,Ue;jhy;> jz;zPh; caUk; msT fhz;f. 
a. 10.25 cm  b. 11.25 cm  c. 11 cm  d. 10 cm 

 
111. A hollow sphere in which a circus motor cyclist performs his stunts, has an area of 154 

m2 available to him for riding. Find the inner radius. 
a. 7m   b. 3.5 m  c. 4m       d.   6m 
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xU cs;sPlw;w Nfhsj;jpDs; cl;Gwkhf xU rh;f;f]; tPuh; Nkhl;lhh; irf;fpspy; rhfrk; 
nra;fpwhh;. me;j rhfr tPuh; rhfrk; nra;Ak; gug;gsT 154kP2 vdpy; mf;Nfhsj;jpd; cl;Gw 
Muj;ij fhz;f.  
a. 7m   b. 3.5 m  c. 4m       d.   6m 

 
112. If the radius of a sphere is half of the radius of another sphere, then their respective 

volumes are in the ratio is  
a. 1 : 2   b. 2 : 1  c. 1 : 8   d. 8 : 1  
xU Nfhsj;jpd; MukhdJ> kw;nwhU Nfhsj;jpd; Muj;jpy; ghjp vdpy; mtw;wpd; fd 
msTfspd; tpfpjk; ahJ?  

 a. 1 : 2   b. 2 : 1  c. 1 : 8   d. 8 : 1  
 
113. Water in a cylindrical tank of diameter 4 m and height 10 m is released through a 

cylindrical pipe of diameter 10 cm at the rate of 2.5 km/hr. How much time will it take to 
empty the half of the tank? Assume that the tank is full of water to begin with. 
a. 3 hours 12 min   b. 3 hours 14 min 
c. 3 hours 16 min   d. 3 hours 10 min 
4 kP tpl;lKk; 10 kP cauKs;s cUis tbtj; njhl;bapYs;s jz;zPuhdJ 10 nr.kP 
tpl;lKs;s xU cUis tbt Foha; topNa kzpf;F2.5 fp.kP. Ntfj;jpy; 
ntspNaw;wg;gLfpwJ.  njhl;bapy; ghjpasT jz;zPh; ntspNaw;wg;gl MFk; Neuj;ijf; 
fhz;f.(Muk;g epiyapy; njhl;b KOtJk; jz;zPh; epug;gg;gl;Ls;sJ vdf; nfhs;f). 
a. 3 kzp 12 epkp   b. 3 kzp 14 epkp 
c. 3 kzp 16 epkp   d. 3 kzp 10 epkp 

 
114. A solid sphere of diameter 6 cm is dropped into a right circular cylindrical vessel with 

diameter 12 cm, which is partly filled with water. If the sphere is completely submerged 
in water, how much does the water level in the cylindrical vessel increase? 
a. 3 cm  b. 2 cm c. 4 cm  d. 1 cm 
rpwpjsT jz;zPh; epug;gg;gl;l 12 nr.kP tpl;lKs;s cUis tbtg; ghj;jpuj;jpy; 6 nr.kP. 
tpl;lKs;s xU jpz;kf; Nfhsj;ij KOtJkhf %o;fr; nra;jhy;> cUis tbtg; 
ghj;jpuj;jpy; cah;e;j ePh; kl;lj;jpd; cauj;ijf; fhz;f. 
a. 3 cm  b. 2 cm c. 4 cm  d. 1 cm 

 
115. Using clay, a student made a right circular cone of height 48 cm and base radius 12 cm. 

Another student reshapes it in the form of a sphere. Find the radius of the sphere.   
a. 14 cm  b. 12 cm  c. 16 cm  d. 10 cm 
fspkz;izg; gad;gLj;jp xU khztd; 48 nr.kP. cauKk; 12 nr.kP MuKk; nfhz;l Neh; 
tl;ljpz;kf; $k;igr; nra;jhh;.  mf;$k;ig kw;nwhU khzth; xU jpz;kf; Nfhskhf 
khw;wpdhh;.  mt;thW khw;wg;gl;l Gjpa Nfhsj;jpd; Muj;ijf; fhz;f.  
a. 14 cm  b. 12 cm  c. 16 cm  d. 10 cm 

 
116. 50 men took a dip in a water tank 40 m long and 20 m broad on a religious day. If the 

average displacement of water by a man is 4 m3, then the rise in the water level in the 
tank will be: 
a. 20 cm  b. 25 cm  c. 35 cm d. 50 cm 
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xU Gdpj ehspy; 40 kP ePsKk; kw;Wk; 20 kP mfyKk; nfhz;l xU Fsj;jpy; 50 egh;fs; 
%o;fpdhh;fs;.  xU egh; %o;fpajhy; ntspNawpa ePhpd; ruhrhp fd msT 4kP3 vdpy;> 
me;jf; Fsj;jpy; ePh; kl;lk; ve;j msTf;F caUk;.  
a. 20 nrkP  b. 25 nrkP  c. 35 nrkP  d. 50 nrkP 

 
117. A cavity of 5m × 3m ×2 m is filled with sand. The cost of one cubic meter of sand is Rs 

500. Total cost to fill the cavity is 
a. ì 15,000  b. ì  30,000  c. ì 50,000  d. ì  53,000 
5kP × 3kP × 2kP msTs;s xU Fop kzyhy; epug;gg;gLfpwJ. xU fd kPl;lh; kzy; tpiy 
500. Fopia %Ltjw;fhd nkhj;jj; njhifahdJ. 
a. ì 15,000  b. ì  30,000  c. ì 50,000  d. ì  53,000 

 
118. A mansion has 12 right cylindrical pillars each having radius 50 cm and height 3.5 m. 

Find the cost to paint the lateral surface of the pillars at Rs.20 per square metre.  
a. ` 2640  b. ` 240  c. ` 1320  d. ` 480 
xU khspifapy;> xt;nthd;Wk; 50nr.kP. MuKk;> 3.5kP cauKk; nfhz;l 12 Neh; tl;l 
cUis tbtj; J}z;fs; cs;sd.  mj;J}z;fSf;F th;zk; G+r xU rJu kPl;lUf;F 
&.20 tPjk; vd;d nrythFk;? 

 a. ` 2640  b. ` 240  c. ` 1320  d. ` 480 
 
 
119. The heights of two circular cones are in the ratio 2 : 3 and the perimeter of their bases are 

3 : 5. The ratio of their volumes, is   
a. 2 : 5   b. 6 : 15   c. 6 : 25    d. 3 : 5 
,U tl;lf; $k;Gfspd; cauq;fspd; tpfpjk; 2 : 3. mtw;wpd; mbr; Rw;wsTfspd;   
tpfpjk; 3 : 5. mtw;wpd; fd msTfspd; tpfpjk; 
a. 2 : 5   b. 6 : 15   c. 6 : 25    d. 3 : 5 

 
120. The relation between the volume V of a sphere of radius r and its surface area S is….. 

a. 
2

V= rS
3

  b. 
r

V= S
3

  c. 
4

V= Sr
3

   d. V=4S 

r Muk; nfhz;l Nfhsj;jpd; fdmsTf;Fk; (V) mjd; tisgug;gpw;Fk; (S) cs;s 
njhlh;gpidf; $Wf. 

a. 
2

V= rS
3

  b. 
r

V= S
3

  c. 
4

V= Sr
3

   d. V=4S 

 
121. If a certain sum at a certain rate of simple interest amounts to  3,810 in 3 years and  4,890 

in 7 years, then the sum and rate of interest are 
a. ( 3,000 & 3.5)    b. (4,000 & 9)    c. (4,000 & 4.5)      d. (3,000 & 9)   
xU njhif jdp tl;bg;gb &. 3>810-I 3 tUlj;jpYk; &. 4>890-I 7 tUlj;jpYk; 
tl;bAld; nfhLf;fpwJ. mry; kw;Wk; tl;b tPjkhdJ. 

 a. ( 3,000 & 3.5)    b. (4,000 & 9)    c. (4,000 & 4.5)      d. (3,000 & 9)   
 
122. In how many years will a sum of money double itself at 18.75% per annum simple 

interest? 
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 a. 4 years 5 months   b. 5 years 4 months 
 c. 6 years 2 months   d. 6 years 5 months 
 tUlj;jpw;F 18.75% vd;w vspa tl;b tpfpjj;jpy; njhifahdJ vj;jid   
 tUlq;fspy; ,ul;bg;ghFk;? 
 a. 4 tUlq;fs; 5 khjq;fs;  b. 5 tUlq;fs; 4 khjq;fs; 
 c. 6 tUlq;fs; 2 khjq;fs;  d. 6 tUlq;fs; 5 khjq;fs;  
 

123. The simple interest on a sum of money is 
9

16
 of the principal. Find the rate percent and 

time if both are numerically equal. 

a. 8 
1

2
 %, 8 

1

2
 yrs b. 7% , 7yrs  c. 7 

1

2
 %, 7 

1

2
 yrs d. 8% 8 yrs 

xU Fwpg;gpl;l njhifapd; jdptl;bahdJ mrypd; 
9

16  
klq;Ff;F rkk;> tl;btPjKk;> 

 tUlKk; vz; kjpg;gpy; rkkhf ,Uf;Fk;NghJ tl;b tPjj;ijAk; tUlj;ijAk; 
fhz;. 

a. 8 
1

2
 %, 8 

1

2
 tUlq;fs;   b. 7% , 7 tUlq;fs;   

c. 7 
1

2
 %, 7 

1

2
 tUlq;fs;   d. 8% 8 tUlq;fs;  

 
124. Mr.X borrowed Rs.5,000 – on 7th  of June 2006 and returned it on 19th August 2006.  Find 

the amount he paid, if the interest is calculated at 7%per annum  
a. `5140  b. `5070  c. ` 5210  d. `5280 

 jpU X vd;gth; 7.6.2006 md;W ` 5>000I fldhfg; ngw;W mij 19.8.2006  md;W jpUk;g 
 nrYj;jpdhh; Mz;bw;F 7% tPjk; tl;b fzf;fplg;gl;lhy; mth;  nrYj;jpa njhif 
 vt;tsT? 
 a. `5140  b. `5070  c. ` 5210  d. `5280 
 

125. Basha borrowed  र.8,500 from a bank at a particular rate of simple interest. After 3 years, 

he paid  र.11,050 to settle his debt. At what rate of interest he borrowed the money? 

a. 10%  b. 8%   c. 9%  d. 2% 

ghl;~h vd;gth; xU tq;fpapypUe;J xU Fwpg;gpl;l jdptl;b tPjj;jpy; र.8,500 If; fldhfg; 

ngw;whh;.  %d;W Mz;Lfs; fopj;J mth;  र.11,050 Ir; nrYj;jpf; flid milj;jhh; 

vdpy; tl;b tPjk; vt;TsT? 
 a. 10%  b. 8%   c. 9%  d. 2% 
 
126. Rs.600 becomes Rs.735 in 3 years at a certain rate of simple interest. If the rate of interest 

is increased by 4%, what amount will Rs.600 become in 3 years? 
a. Rs.207             b.   Rs.807            c.   Rs.707             d.   Rs.907 
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xU Fwpg;gpl;l tl;b tPjj;jpy; jdp tl;b mbg;gilapy; itg;G nra;ag;gl;l &.600> 3 
Mz;Lfspy; &.735 Mf cah;fpwJ. tl;b tPjk; 4 rjtPjk; cah;j;jg;gl;lhy;> me;j &.600> 
3 Mz;Lfspy; vt;tsT &ghahf caUk;?     
a. Rs.207             b.   Rs.807            c.   Rs.707             d.   Rs.907 

 
127. A person takes a loan of ì 10000 partly from a bank at 8% per annum and remaining from 

another bank at 10% per annum. He pays a total interest of ` 950 per annum. Amount of 
loan taken from the first bank (in ì) is 
a. 2500  b. 5200  c. 2050  d. 5020 
xU egh; &.10>000I fldhfg; ngWfpwhh;.  mjpy; xU gFjpia Mz;Lf;F 8 tpOf;fhL 
vd;w tPjj;jpy; xU tq;fpapypUe;Jk;> kPjpj; njhifia ,d;ndhU tq;fpapypUe;Jk; 10% 
tPjj;jpy; fldhfg; ngWfpwhh;. ,t;tpuz;L fld;fSf;Fk; Mz;Lf;F nkhj;j tl;bahf 
&.950 nrYj;Jfpwhh; vdpy; mth; Kjy; tq;fpapypUe;J ngw;w fld; njhif vt;tsT 
&gha;?  
a. 2500  b. 5200  c. 2050  d. 5020 

 
128. A sum of money becomes 3 times in 5 years.  In how many years will the same sum 

becomes 6 times at the same rate of simple interest? 
a. 15 years  b. 12.5years  c. 10 years  d. 7.5 years 
xU Fwpg;gpl;l njhif 5 Mz;Lfspy; 3 klq;fhf cah;fpwJ.  mNj jdp  
tl;b mbg;gilapy; me;jj; njhif vj;jid Mz;Lfspy; 6 klq;fhf caUk;? 
a. 15 Mz;Lfs; b. 12.5Mz;Lfs; c. 10 Mz;Lfs; d. 7.5 Mz;Lfs; 

 
129. The cost of a computer is Rs.18000. Everest company collects 5% interest for Hire 

purchase. Calculate the instalment fixed by the company for 36 months. 
a. ` 525  b. ` 550  c. ` 575   d. ` 600 
xU fzpdpapd; tpiy &.18000. vtnu];l; epjp epWtdk; jtiz Kiw tpw;gidapy; 5% 
tl;bahfg; ngWfpwJ. 36 khjq;fSf;F jtiz Kiwapy; thq;f xUth; me;j 
epWtdj;jpw;Fr; nrYj;j Ntz;ba khjj; jtiz vt;tsT? 

 a. ` 525  b. ` 550  c. ` 575   d. ` 600 
 

130. Find the rate percent at which a sum of money becomes 
7

6
times in 3 years. 

a. 12%  b. 5
5

9
%  c. 6

5

9
%  d. 24% 

 xU mryhdJ 3 tUlj;jpy; 
7

6
klq;fhf MFnkdpy; mjd; tl;b tpfpjk;  vt;tsT? 

 a. 12%  b. 5
5

9
%  c. 6

5

9
%  d. 24% 

 
131. A sum of Rs. 2500 deposited in a bank gives an interest of Rs. 100 in 6 months. What will 

be the interest on Rs. 3200 for 9 months at the same rate of interest? 
a. Rs. 200  b. Rs. 192  c. Rs. 180  d. Rs. 210 
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xU tq;fpapy; 6 khjq;fSf;F KjyPL nra;ag;gl;l mry; Rs. 2>500f;F tl;b Rs. 100 
fpilf;fpwJ.  vdpy; mNj tl;b tPjj;jpy; 9 khjq;fSf;F mry; Rs. 3200f;F fpilf;Fk; 
tl;b vt;tsT? 
a. Rs. 200  b. Rs. 192  c. Rs. 180  d. Rs. 210 

 
132. Swetha makes a fixed deposit of Rs. 25,000 in a bank for 2 years. If the rate of interest is 

4% per annum, find the maturity value. 
a. ` 27,000  b. ` 25,700  c. ` 32,500  d. ` 33,000 
];Ntjh Mz;L tl;b tPjk; 4% jUk; xU tq;fpapy; &.25>000-I 2 Mz;LfSf;F epue;ju 
,l;L itg;Gj;jpl;lj;jpy; KjyPL nra;jhh;. mJ KbtilAk; NghJ mtUf;F fpilf;Fk; 
Kjph;T njhif vd;d? 

 a. ` 27,000  b. ` 25,700  c. ` 32,500  d. ` 33,000 
 
133. Find the compound interest on Rs.  8,000 at   15% per annum for 2 years 4 months 

compounded annually. 
a. 3110            b. 3109  c.  3106              d. 3108 

 & 8>000-f;F Mz;bw;F 15% tl;b tpfpjj;jpy; 2 Mz;L kw;Wk; 4 khj;jpw;fhd  $l;L 
 tl;bia fzf;fpLf. 
 a. 3110  b. 3109  c. 3106   d. 3108  
 
134. The time in which ì 80,000 amounts to  ì 92,610 at 10% p.a. at compound interest, interest 

being compounded semi-annually is: 

a. 3 years  b. 1
1

2
years  c. 2 years  d. 2 

1

2
years 

$l;L tl;bahdJ MW khjq;fSf;F xUKiw fzf;fplg;gl;lhy; &.80>000-MdJ vj;jid 
Mz;LfSf;F gpwF 10% Mz;Ltl;bapy; &.92>610 Mf khWk;? 
a. 3 Mz;Lfs; b. 1 ½ Mz;Lfs;  
c. 2 Mz;Lfs; d. 2 ½ Mz;Lfs; 

135. Find the difference between simple interest and compound interest on Rs.2,400 at 2 
years-at 5% per annum compounded annually. 

 a. Rs.5         b. Rs.6  c. Rs.8         d. Rs.7 
 &.2>400f;F 5% Mz;L tl;b tPjk; 2 Mz;Lfspy; fpilf;Fk; $l;L tl;bf;Fk; 
 jdptl;bf;Fk; cs;s tpj;jpahrk; fhz;f. 
 a. &.5   b. &.6  c. &. 8  d. &.7 
 
136. At the rate of compound interest, a sum of money triples in two years. Then in how 

 many years it will become 27 times? 
a. 4 years   b. 6 years   c. 8 years   d. 9 years 

 $l;L tl;b ngUk; xU njhif ,uz;L tUlj;jpy; %d;W klq;fhfpwJ. vdpy;  mJ 
 vj;jid tUlj;jpy; 27 klq;fhFk;?  
 a. 4 tUlq;fs; b. 6 tUlq;fs; c. 8 tUlq;fs;  d. 9 tUlq;fs; 
 
137. The rate of interest on a sum of money is 4% per annum for the first 2 years, 6% per 

annum for the next 4 years and 8% per annum for the period beyond 6 years. If the 
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simple interest accrued by the sum for a total period of          9 years is Rs. 1,120. What is 
the sum? 
a. Rs. 1500  b. Rs. 2000   c. Rs. 2500  d. Rs. 4000 
xU njhiff;fhd tUl tl;b Kjy; ,uz;L tUlj;jpw;F 4% MfTk; mLj;j ehd;F 
tUlj;jpw;F 6% MfTk; MW tUlq;fSf;F Nky; 8%  MfTk; cs;sJ.  xU Fwpg;gpl;l 
njhiff;fhd 9 tUl fhyj;jpw;fhd jdptl;bj; njhif 1>120 vdpy; mj;njhifia 
fhz;f. 
a. Rs. 1500  b. Rs. 2000   c. Rs. 2500  d. Rs. 4000 

 
138. In how much time will a sum of Rs. 1600 amount to Rs. 1852.20 at 5% per annum 

compound interest. 
a. 2 ½ yrs  b. 2 yrs  c. 4 yrs  d. 3 yrs 
&.1>600 MdJ 5%Mz;L $l;L tl;b tPjk; nfhz;L vj;jid Mz;Lfspy; &.1852.20 
MFk;. 
a. 2 ½ yrs  b. 2 yrs  c. 4 yrs  d. 3 yrs 

 
139. A sum of money becomes eight times of itself in 3 years at compound interest.  The rate 

of interest per annum is: 
a. 100%  b. 80%  c. 20%  d. 10% 
$l;L tl;bf;F tplg;gLk; xU Fwpg;gpl;l njhif 3 Mz;Lfspy; mijg; Nghy vl;L 
klq;fhfpwJ vdpy; Mz;L tl;b tPjk; vt;tsT? 
a. 100%  b. 80%  c. 20%  d. 10% 

 
140. The compound interest on Rs 2000 for 3 years is Rs. 315.25.  The rate of interest is  

a. 3%   b. 4%   c. 5%   d. 6% 
&.2000f;F 3 Mz;Lfhyj;jpy; fpilf;Fk; $l;Ltl;bahdJ &.315.25 vdpy; Mz;Ltl;btPjk; 
vt;tsT? 
a. 3%   b. 4%   c. 5%   d. 6% 

 
141. Find compound interest of ì 10000 for 3 years if rate of interest is 5%, 10% and 20% for 

first, second and third years respectively. 
a. ì 3310  b. ì 3500  c. ì 3860  d. ì 3980 
%d;W Mz;LfSf;fhd tl;b tPjk; Kjy;> ,uz;L kw;Wk; %d;whk; Mz;Lf;F KiwNa 5 
tpOf;fhL> 10 tpOf;fhL kw;Wk; 20 tpOf;fhL vdpy;> &gha; 10>000f;F 3 Mz;LfSf;F 
$l;L tl;biaf; fz;Lgpbf;fTk;.   
a. ì 3310  b. ì 3500  c. ì 3860  d. ì 3980 

 
142. The C.I. on a sum of money for 2 years at 10% is Rs.168. Find the simple interest 

a. Rs.150  b. Rs.158  c. Rs.160  d. Rs.164 
xU njhiff;F 2 tUlq;fSf;F 10% $l;L tl;bapy; &.168 fpilf;fpwJ vdpy; mjd; jdp 
tl;biaf; fhz;f 
a. Rs.150  b. Rs.158  c. Rs.160  d. Rs.164 

 
143. Find out the compound interest of Rs.5000 for 2 years at 6% per annum. 

a. Rs.681              b. Rs.618            c. Rs.600             d. Rs.1200 
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&.5000f;F> 2 Mz;L fhyj;jpy; Mz;Lf;F 6 rjtPj mbg;gilapy; $l;L tl;biaf; fz;L 
gpbf;fTk;? 
a. Rs.681              b. Rs.618            c. Rs.600             d. Rs.1200 

 
144. The C.I. on Rs.24,000 at 10% per annum for 1 ½ years where interest being compounded 

half-yearly is _____ 
a. Rs. 3783  b. Rs.3873  c. Rs.3378  d. Rs.3837 

 6 khjj;jpw;F xU Kiw tl;b fzf;fplg;gl;lhy; &.24>000f;F 1 ½ Mz;L  fhyj;jpw;F 
 10% tl;b tPjj;jpy; fpilf;Fk; $l;L tl;b vd;d? 
 a. &. 3783  b. &.3873  c. &.3378  d. &.3837 
 

145. A sum Rs. 800 amount to Rs. 915.92 in two years. Then the compound interest rate is    
 a. 6%   b. 4%   c. 7%   d. 8% 
 &. 800 vd;w mry; ,uz;lhz;L Kbtpy; &. 915.92 MfpwJ vdpy; $l;L tl;b  rjtPjk; 
 fhz;f. 
 a. 6%   b. 4%   c. 7%   d. 8% 
 

146. If the difference between CI and SI on a certain sum of money for 3yrs at 10% p.a. is Rs 
31, find the sum. 

 a. Rs. 1,000  b. Rs. 2,000  c. Rs. 1,500 d. Rs. 1,250 
 3 Mz;LfSf;F 10% tl;b tpfpjj;jpy; jdptl;b> $l;L tl;b ,itfspd;  tpj;jpahrk; &. 
 31 vdpy;> mry; vt;tsT? 
 a. Rs. 1,000  b. Rs. 2,000  c. Rs. 1,500 d. Rs. 1,250 
 

147. The principle that will yield a compound interest of Rs. 1632 in 2 years at 4% rate of 
interest per annum is Rs. 
a. 20,000  b. 25,000  c. 30,000   d.  35,000 
4% Mz;L tl;b tPjg;gb 2 Mz;Lfspy; ì 1632 $l;L tl;b jUk; mry; ì ________ Mf 
,Uf;Fk;.  

 a. 20,000  b. 25,000  c. 30,000   d.  35,000 
148. A sum of money at compound interest doubles itself in 15 years.  It will become eight 

times of itself in 
a. 60 years  b. 54 years  c. 48 years  d. 45 years 
xU njhifahdJ $l;Ltl;b tpfpjj;jpy; 15 Mz;Lfspy; 2 klq;F MfpwJ vdpy; vj;jid 
Mz;Lfspy; mj;njhif 8 klq;fhFk; ? 
a. 60 tUlq;fs; b. 54 tUlq;fs; c. 48 tUlq;fs; d. 45 tUlq;fs; 

 
149. Easwari deposited Rs.350 per month for 6 years in a recurring deposit account in a post 

office. If she received Rs.32,865, then the rate of interest is 
a. 6%   b. 10%  c. 15%  d. 8% 
<];thp xt;nthU khjj; Jtf;fj;jpYk; &.350 I Xh; mQ;ryfj;jpy; 6 Mz;LfSf;F 
nrYj;jp te;jhs;> Kbtpy; mts; &.32>865 ngw;whs;. fpilj;j tl;b tPjk; 

 a. 6%   b. 10%  c. 15%  d. 8% 
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150. A sum of Rs. 12,000 deposited at compound interest becomes double after 5 years.  After 
20 years, it will becomes? 
a. Rs. 1,92,000 b. Rs. 1,20,000 c. Rs. 1,24,000 d. Rs. 60,000 
$l;L tl;bapy; KjyPL nra;ag;gl;l &. 12>000 njhifahdJ Ie;jhk; tUl Kbtpy; 
,uz;L klq;fhf MfpwJ vdpy;> me;j njhif 20-k; tUl Kbtpy; vt;tsT MfpapUf;Fk;. 
a. &. 1,92,000  b. &. 1,20,000  c. &. 1,24,000  d. &. 60,000 
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TNPSC GROUP I test batch – 2020 
TEST XIX – MENTAL ABILITY & CURRENT AFFAIRS (NOV & DEC) 

 

1 2 3 4 5 6 7 8 9 10 
D C B A D B B D B C 

11 12 13 14 15 16 17 18 19 20 
C D D A C D C A C D 

21 22 23 24 25 26 27 28 29 30 
B C A D D D B A A D 

31 32 33 34 35 36 37 38 39 40 
B C B B C A C D A B 

41 42 43 44 45 46 47 48 49 50 
C B D A B C B A D C 

51 52 53 54 55 56 57 58 59 60 
B B D A A D B C D B 

61 62 63 64 65 66 67 68 69 70 
B A C A A C B B D A 

71 72 73 74 75 76 77 78 79 80 
B D B A D A C D A D 

81 82 83 84 85 86 87 88 89 90 
C B B B C C B D C C 

91 92 93 94 95 96 97 98 99 100 
B C A C B A D B D A 

101 102 103 104 105 106 107 108 109 110 
B A B A C B A D A B 

111 112 113 114 115 116 117 118 119 120 
B C A D B B A A C B 

121 122 123 124 125 126 127 128 129 130 
D B C B A B A B C B 

131 132 133 134 135 136 137 138 139 140 
B A B B B B B D A C 

141 142 143 144 145 146 147 148 149 150 
C C B A C A A D B A 
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